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QUESTION 1

What is function of the RP/0/RSP0/CPU0:PE1(config-ospf)#distance Cisco IOS-XR command? 

A. To modify the administrative distance of the OSPF routes 

B. To modify the default seed metric of the OSPF external routes 

C. To modify the OSPF default reference bandwidth 

D. To modify the OSPF cost 

Correct Answer: A 

http://www.cisco.com/en/US/docs/ios_xr_sw/iosxr_r3.8/routing/command/reference/rr38osp f.pdf 
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QUESTION 2

Refer to the route policies exhibit. 
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Which five route policies will cause the routes to be dropped or passed? (Choose five) 

A. route-policy one will cause the routes to be dropped. 

B. route-policy two will cause the routes to be dropped. 

C. route-policy three will cause the routes to be dropped. 

D. route-policy four will cause the routes to be dropped. 

E. route-policy five will cause the routes to be dropped. 

F. route-policy one will cause the routes to be passed. 

G. route-policy two will cause the routes to be passed. 

H. route-policy three will cause the routes to be passed. 

I. route-policy four will cause the routes to be passed. 

J. route-policy five will cause the routes to be passed. 

Correct Answer: ACEGI 

 

 

QUESTION 3

Which of the following is used by an IS-IS router to detect other IS-IS neighbor routers and to form adjacencies? 

A. ESH 
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B. ISH 

C. IIH 

D. PSNP 

E. CSNP 

Correct Answer: C 

ISIS actually features three different hello types An ES Hello (ESH) is send by all End Systems, and all IS devices listen
for this Hello An IS Hello (ISH) announces the presence of an IS - An IS Hello is sent by all IS devices, and End
Systems listen for these hellos Finally, an IS-to-IS Hello (IIH) is used by an IS to discover other ISes and to form
adjacencies with them A router will send an IIH to another router on the link to form or maintain an adjacency, but it will
still send an ISH as well in case there are end systems located on that segment 

 

QUESTION 4

Which value must be configured when redistributing OSPFv2 into RIP? 

A. metric 

B. bandwidth 

C. delay 

D. MTU 

E. reliability 

Correct Answer: A 

 

QUESTION 5

Which of the following is a characteristic of dual-multihomed connectivity between an enterprise network and the service
provider network or networks? 

A. An enterprise network that is connected to two or more different service providers with two or more links per service
provider and using BGP to exchange routing updates with the service providers. 

B. Each service provider announces a default route on each of the links that connect to the customer with a different
metric. 

C. An enterprise network announces a default route to each service provider. 

D. Load balancing can be achieved using the maximum-paths command. 

Correct Answer: A 
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